[ Efficiency vs vertpos |

—_
+—

£0.09
2
2.0.08
2
&0.07
=]
5 0.06
0.05
0.04

Ratio

Efficiend

efficiency vs vert z

Ratio

0.03
0.02
0.01

0.1

.................................................

1.0

o
©
a

1072 107 1

10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr |

fake+duplicates vs. r

Ratio

]

0.8

0.6

0.4

0.2

0.95

VECTOT_IUUUEVT

Vit

ooooy]
1o00Cg
T
——r—od]
R
OS2 =
go%
g; )

B |

S5
e
o253
S3<o
SF~<
ST =
<

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

e

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05

>
80.045

S

=0.04
9.035
Py
£0.03
.025
(]

0.02

0.015

0.01

0.005

Ratio

0

.U

=

0%55"15 -10 5 0 5

10 15 20
Sim. PV z (cm)

fake+duplicates vs. z

Ratio

0.8

0.6

0.4

0.2

................................................

L

-20 -10 O 10 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

fake+duplicates rate vs Sim. PV z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

=

_____ Jr__f%_m;.__-..f;...«..y_ﬁ#_____5______
: : : + :* :
NPT PR P PO P P P

095515 -10 5 0 5

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


